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ZZ79 133 select center of projection and window on viewplane;
for ( each scan line in image ){

ctst 34 54
o1 oaize for (‘each pixel in scan ling){
determine ray from center of projection through pixel;
for ( each object in scene) {
if (object is intersected and is closest considered thus far )
record intersection and object name;
|
set pixel's color to that at closest object intersection:
|
}
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x=xp+ tdx, y=wy,+tdy, 2=z, t+ tdz. (13.10)
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) may be trivially rejected. A simple method to traverse the hierarchy is

HIER _traverse (ray r, node n)

if (r intersects n’s bounding volume)
if (n is a leaf)
intersect r with n’s object;
else
for (each child c of n)
HIER _traverse (r, ¢);
/+ HIER traverse */
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- Super-sampling
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